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Farameters
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Here it seems for all t we get an dnique solution
tand pararmeter t disappears?a)?
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Here it seem=s we hawe to study the special caze
t==32/14%
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Here it seem= the parameter t is without meaning
Lt dizappears?a?

But in case t=@A:
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The rank-function can't compute the rank in
dependence on the parameter tl

If we usze the "ref" or "rref" or "rank" functions
the CP =hould give a message "no solution with
parameters" (cp TI-MNspire CAS, &5 1.62

another exercise with complex numbers:

=

=

L

=]k

LU

|r_r| —la &

|en ~les

I

N




4 2t 2+23
A1 23 1+3 [|#mat
= H

4 -1
4 2t a+2-3
H 1 Z-3 1+3
= B 4 -1
Fankirmat?
i
Fankimat|s=—3 and t=—d+d432
Z
Again,. the rank is depending on the parameters =
and t
The exchange procedure:
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The next pivot element could be agataiae- _;111 LRE

to exchange g & ra
Thus we get Cif exchange va + xa possible?
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followig decisionsi:

T1=ET vy ra=t 1
x4 I N O O
wa | H | [8] ron—unique solotion

T1=ET vy ra=t 1
X1 | | O O
e I | H [#8] <(no solution,

contradiction in the w—=row W@

stop

How using the new created functions LinEgqSys
and AVRank in Hain—menu

.To use the LinEgSy=s and AVYEank program in oan
eActivity the prograrm must be stored in the
Librarw—folder! 2

ST Ty o x3 1

Wi | a1 a1 a13 — 31 pivot ay*B to
exchange exchange vy & x4

Ya | ap Agg =FE —3a

Wy | a3 A3a 233 —33

Wy | aa1 a4 a43 — 34



3 2t @A
H 1 -4 1
i 28 -1 FmatsT
-1 8 2 -1
(3 2t @ ]
B 1 -4 1
1 2 a8 -1
-1 a8 2 -1
LinEgSw=imatsSTa1.12
done
syntax: LinEgSwsimatriry, row index | of ajks
column index k of ajkrs if ajr pivot
matnewsmatT1
- o —
3 3 4
1 —d 1
7 i
3 3 L
2 t
EREAaE
T1 | xa x3 1
3y | W O O O
vaoo | O O O pivot azz=B8 to
exchange exchange wa & x;
w3 | W O O O
Yo | W O O O

LinEgSw=simatTls 2. 12
done



matnewsmatT2

[ —[t+3) 2
. .
G -1
- t-28) 1@
3 3
t+14 =
| 3 C
T2 w1 wa x3 1
1y | MW | O O
2 | W | O O
+wwvgy | H | O O pivot aszz=B to
exchange exchange w3 £ x3 or
Ya | N | O O pivot agz=8 to

exchange exchange vy & x3

If t=222 than we hawve a third exchange—-step x3 &
'3

LinEgSwsimatT2,y 3.1

matnewsmatET




G- t+2)
1 | W | | —T

-4
2 | W | | —T 1

-16
3 | W | | =T

-5t _ . _
VI . | H | =T Wa=E, if t=H

St

matET is the =olutions it the last element T

edquals Hs i.2. t=H

matET | t=8
- o
7
i
?
=
14
i
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Thus x=-2/7, w=3-7, z=5-14

Stop

Remark: rank of matsT is 2 for t=A and 4
otherwise
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If t=-14 we compute:
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Thus we hawe 2 steps. l.2. rank eguals 2. and for
t=d we get rank equals 4
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The rankirmatriz» function can not differ between 3=
ar 4 in dependence of parameter t.



